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Part A

Section Id : 920906465
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906749
Question Shuffling Allowed : No

Is Section Default? : null



Question Id : 92090623479 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Question Numbers : (1 to 5)
Question Label : Comprehension

HRd ¥ Ugdl HER U3 1777 5. W o 3PReY gt 3 URw fasar o | 29 sHadl 1780
S 1 I S el 91 § urdifes UR™ | g8 e ot yRdtg v &1 ggd 9HER
U3 7 3R 39% gerEr], 3Rl & sifafed A ot ueife ga 41 39 ac Uik 8n
ard 3fvsar Toie (1783), ol Teie (1784) 3M1fe THER uF +ff fagmu uaiia &wd 4|
g1 giifopra faqmoei & sifalied U=k, sirel, a%d, S, € 3i1fe & fagme off ueifRra gid 41
Iaredl 9l H Bu4 ard fagmal F it garell § wae 4 39 sifala aifie g
qur Ul S g 7 gUl Q! & fagma v 39 yeiferd fee e O Jiadi udl & are |
B gl fagmu=T 7 el @1 iy om @it 8t 1906 3. H yia e & I gl & fagma
o &l T Y- “HRd & folg, YRa | &7

fasmo=T # gge siie gyy-wfgarsi & R 8 el g 41 WRdigl &1 39 &3 § uaw
diadl warsdt & gon| ugd Rnb widt ot gent & a3 ®ud 41 dR-4R gg uafy ow gt
T3 | HRAIY dsfdhal 3R Afgant di Wdadl & 915 ol f[ayu= & &3 | ans |

R # ISTT TR0 a1 1926 5. & URS g5 | Sererani & it =i & saauiis
faIToT Tl 1 A9%aR, 1967 ¥ URR g3 | S9! Ugd TSl 3% & THIHT 97% Sl db ¢ | URd
o &1 dl. guROr 1959 5. T WY 3111 59 H1HH WR A9 Jar 1 Sad, 1976 9§ R €5 | 39
HISOH S Ugd TS 52 B 90% S-dl dd o | WA T IHRR W § fheri & = uebied
gd ¥, 71 | R & U8 R UR™ # SR Aei=R & 915 fa-fivdd Gas o @l | 399
sifaRaa dogex SR Hiarga BiF W i fafis sl ored @ 8 gl @1 818 o o 7S |

Sub questions

Question Number : 1 Question Id : 92090623480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%ﬁWWWWWEdﬂ?

(1) 1780%. (2) 1777%.
(3) 17847%. 4) 1783 %.
Options :

92090692801. 1
92090692802. 2
92090692803. 3
92090692804. 4



Question Number : 2 Question Id : 92090623481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd1g defedl ofik wfgent e fagu= & & 7 o2

(1) Eagargd (2) WdFAAT P 915
(3) Jufew & (4) 3MYHP BT
Options :

92090692805. 1
92090692806. 2
92090692807. 3
92090692808. 4

Question Number : 3 Question Id : 92090623482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST TSl T U 417

(1) Afye (2) Wwgd
(3) difte @) o
Options :

92090692809. 1
92090692810. 2
92090692811. 3
92090692812. 4

Question Number : 4 Question Id : 92090623483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ASh # ugd T F G oA uforerd F9d1 9 82

(1) 80% (2) 97%
(3) 90% (4) 60%
Options :

92090692813. 1
92090692814. 2



92090692815. 3
92090692816. 4

Question Number : 5 Question Id : 92090623484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR & SHR Ugd! faga dd1 Hd Y g2

(1) 1926%. (2) 1967 %.
(3) 195973 4) 1976 7.
Options :

92090692817. 1
92090692818. 2
92090692819. 3
92090692820. 4

Question Id : 92090623479 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



HRd ¥ Ugdl HER U3 1777 5. H o 3PReY fgdt 3w fasar o1 | 29 sHadt 1780
3. 7 394 gd ol A ¥ gidified U fan) g o HRdhg |t &1 Ugdl §HER
U3 7 3R 39% gHrEn], FaRt & sffafved fAama off uaifRe 818 41 39% 915 usiiRE 8n
aTd 3fvsar Teie (1783), Haddl Teie (1784) 3Mfe FHER uF i fagm ue i &wd 4|
g1 giifora faqmoeli & sifafied ok, sitel, a%d, S0, €0 onfe & fagmu= +ff usifRid gid 41
Iaredl 9l § Bu4 ard fagmei § it qarefl @ was 41 39 ifaita ot g
Yl Ul S g 7 gUl Qidd! & faqa W 39 ueiiRid fou e o) fiadl udl & e |
B are fasmu=l 7 el @t 1y om &t o4t 1906 3. H uiiara e & 31 el & fagma
o &l T Y- "HRd & fg, YRa | 97

fasmo=T # gge sife gry-wigarsi & R g el gd 41 YRl &1 39 &3 J yaw
diadl warsdt & gonl ugd Rnb widt 9 gewl & faF 9ud 31 dR-4R g8 vafy o0 gkt
T3 | HRAIY @sfdal 3R Afgant 9l Wdadl & 918 6l [aqu- & &a | os |

R § IS0 TR HaT1 1926 5. H YRS g5 | Sfrrerani & &l S=f 4 saeuiie
faIToT Tl 1 %R, 1967 ¥ URR g3 | U] Ugd TS 3% & T 97% Sd1 dP & | YRd
o &1 dl. gWROr 1959 5. T U 311 39 H1eAH W fA99E 9a1 1 96, 1976 4 UR™ €5 | 39
HISOH S Ugd TS S & 90% S-d1 d o | WM T FHRR W= § el & 9= uebiRid
gld ¥, 71 | R & Ue R UR™ H SR AHiR & 915 Ge-fied Gas o @l | 3%
sifaRaa dgex SR Hrarga wF 9 i fafte sl gy 9 8 fagmoel @1 g F o1 8 €1

Sub questions

Question Number : 1 Question Id : 92090623480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wﬁmwwmmgm

(1) 1780%. (2) 1777%.
(3) 1784% (4) 1783 %.
Options :

92090692801. 1
92090692802. 2
92090692803. 3
92090692804. 4

Question Number : 2 Question Id : 92090623481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR defddl Sk Rigamt &d fagu- & &= # g2

(1) wadargd (2) WdFAAT P 9@l
(3) QIUFHSY & (4) 3H1YIH BIed
Options :

92090692805. 1
92090692806. 2
92090692807. 3
92090692808. 4

Question Number : 3 Question Id : 92090623482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST TSl T U 417

(1) Afye (2) Wwgd
(3) difte @) o
Options :

92090692809. 1
92090692810. 2
92090692811. 3
92090692812. 4

Question Number : 4 Question Id : 92090623483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ASh # ugd T F G oA uforerd F9d1 9 82

(1) 80% (2) 97%
(3) 90% (4) 60%
Options :

92090692813. 1
92090692814. 2
92090692815. 3
92090692816. 4

Question Number : 5 Question Id : 92090623484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

TR % SFHR Ug A9 841 9 IF 837

(1) 19263, (2) 1967 5.

(3) 1959%. @4) 197673,
Options :

92090692817. 1
92090692818. 2
92090692819. 3
92090692820. 4

Sub-Section Number : 2
Sub-Section Id : 920906750
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090623485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
P dadi S e A TS TS &-
A, Sfreffarg
B. ICH

£ J=ad
I fau e fasei ¥ 9 9El IR &1 984 P ;

(1) ®ddB,C D
(2) &dEAA,B,C
(3) HEACD,E
(4) HIAACE
Options :
92090692821 1

92090692822. 2
92090692823. 3



92090692824. 4

Question Number : 6 Question Id : 92090623485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FaRfRadadi S eV AT I 8-
A 3freifarg
B. ICH

e

C. WA
D. HARGH
E.  Jad
A fau e faeeul 7 ¥ el IR &1 994 Sy ;

(1) @ddB,C D
(2) &ddA,B,C
(3) @auCD,E
(4) HAdAACE

Options :

92090692821. 1
92090692822. 2
92090692823. 3
92090692824. 4

Question Number : 7 Question Id : 92090623486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&R B Hid 1 a1 3 g 2

(1) EXPHTBEA (2) |l DI HH BT
(3) TV BHH B @) 9 Bl F g
Options :

92090692825. 1
92090692826. 2
92090692827. 3



92090692828. 4

Question Number : 7 Question Id : 92090623486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&R B Hid 1 a1 3 g 2

(1) EXPHTBEA (2) |l DI HH BT
(3) B &V HH BT @) 9 Bl F g
Options :

92090692825. 1
92090692826. 2
92090692827. 3
92090692828. 4

Question Number : 8 Question Id : 92090623487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad o 9 g< areg &1 994 $ifoT |

(1) 32 Pl WM 87 (2) 978 Pel ol 8?
(3) 3P| ®el ol 82 (4) IU Bl A g2
Options :

92090692829. 1
92090692830. 2
92090692831. 3
92090692832. 4

Question Number : 8 Question Id : 92090623487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad o 9 g< areg &1 994 $ifoT |
(1)  IEH Pel o 87 (2) T Pl o 8?
(3) 3P| ®el ol 82 (4) IU Bl A g2

Options :



92090692829. 1
92090692830. 2
92090692831. 3
92090692832. 4

Question Number : 9 Question Id : 92090623488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& 4 weg fafd & g &
(1) o

(2) @I

(3) dfd

(4) ®H

= 3 71u faeseul & @ gl IR &1 =904 DI ;
(1) PadA

(2) &duB

(3) ad A 3R B M

(4) HAAC

Options :

92090692833. 1
92090692834. 2
92090692835. 3
92090692836. 4

Question Number : 9 Question Id : 92090623488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



& T vs2 3l & gl 82

(1) adidl
(2) DI
3) dfd
(4) ®H

2 fau 7 fasedi 7 9 9El IR &1 944 Fifoiw :

(1) ddA
(2) &ddB
(3) &dd A 3R B I
(4) HdAC
Options :

92090692833. 1
92090692834. 2
92090692835. 3
92090692836. 4

Question Number : 10 Question Id : 92090623489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S A G Heray &1 el S ®1 8 2

(1) & ¥ die| (2) TU Il
(3) &M AT (4) oned Tfthd g1
Options :

92090692837. 1
92090692838. 2
92090692839. 3
92090692840. 4

Question Number : 10 Question Id : 92090623489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S A G Heray &1 el S ®1 8 2

(1) & ¥ die| (2) TU Il
(3)  SEH AT (4) oned Tfthd g
Options :

92090692837. 1
92090692838. 2
92090692839. 3
92090692840. 4

Question Number : 11 Question Id : 92090623490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QUAD (@T3) % Hewl & He! HUIoiA &1 UgaH Hifeig-
A HRd

B. faugam

C. WmUH

D. S femr

u

E JUugu
F.  Giémr i
4 fau T faeedi § | Hel TR &1 994 Do ;

(1) ABCD
(2) ADEF
(3y ABEF
(4) A CDE

Options :

92090692841. 1
92090692842. 2
92090692843. 3
92090692844. 4

Question Number : 11 Question Id : 92090623490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

QUAD (18) % H&dl & Hel HaIeiA &I ygaH Sifere-
A HRd

B. fagaam

C. wuH

D. Sefern

u

E ZUau
F. ofém sifa
12 fou 7o fasedl & | WEl 3R &1 98- Sif9e

(1) ABCD
(2) ADEF
{3y ABEF
(4) A CDE

Options :

92090692841. 1
92090692842. 2
92090692843. 3
92090692844. 4

Question Number : 12 Question Id : 92090623491 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e prR i et g S A g gs &, a g _

(1) <Y aes (2) YRAEH
(3) dacldied (4) THS dIg&h
Options :

92090692845. 1
92090692846. 2
92090692847. 3
92090692848. 4



Question Number : 12 Question Id : 92090623491 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g R Tl Al s T A g s 8, 39 _

(1) gl aEs (2 URdAED
(3) O dIGd 4) TS 95
Options :

92090692845. 1
92090692846. 2
92090692847. 3
92090692848. 4

Question Number : 13 Question Id : 92090623492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

30 ¥ fFg YRR I § TORTR I W Y T A1 S 87

(M  ufgm §rd (2) UdE
(3) IO (4) HAlCH
Options :

92090692849. 1
92090692850. 2
92090692851. 3
92090692852. 4

Question Number : 13 Question Id : 92090623492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=0 ¥ by Rty Iy H URTR Id UHE Y H 391 §1d] 87

(1) ui&y €mre (2) UoE
(3) ISH (4) HAlCH
Options :

92090692849. 1
92090692850. 2



92090692851. 3
92090692852. 4

Question Number : 14 Question Id : 92090623493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S0 U B -9 $a1g HAEg ARGl (FEeE) SfEFm,2019 ¥ waftd 82

(1) fad= darem (2) & HATTY
(3)  319¥ U9 TR HAY (4) 78 HARY
Options :

92090692853. 1
92090692854. 2
92090692855. 3
92090692856. 4

Question Number : 14 Question Id : 92090623493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S0 U B H-U1 F 10 HA@g ANTRG Tl (GFEeE) i, 2019 T gaftd g2

(1) fad= garem (2) & HATGY
(3) 39 U9 TR HAWY (4) 8 HAY
Options :

92090692853. 1
92090692854. 2
92090692855. 3
92090692856. 4

Question Number : 15 Question Id : 92090623494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HRarg Fafe= smar (3 41 o) A Rydfafea e urd & ga e & wiia @) $3A
&1 Aoy femm

(1) o srefed ardf (2) sy HI™
(3) T {TeHi uref @) U Ed
Options :

92090692857. 1
92090692858. 2
92090692859. 3
92090692860. 4

Question Number : 15 Question Id : 92090623494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRara Fale= smar (§ 91 o) A Rydfafea e urdf & ga e &1 @i (@) $33
&1 fFofg ferm

(1) i sfed ardf 2) TS T HEsTm
(3)  3MTH 3MEH urdf @) ST Ed
Options :

92090692857. 1
92090692858. 2
92090692859. 3
92090692860. 4

Question Number : 16 Question Id : 92090623495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BHEI 31 U tfed H fa-ial &1 ®IF 918 & 26 af SR 310 ¥ 23 9f & ufdd & od fva- o 82

(1) 46 (2) 47
(3) 48 (4) 49
Options :

92090692861. 1
92090692862. 2
92090692863. 3
92090692864. 4



Question Number : 16 Question Id : 92090623495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B &1 U Ui H fa-iidn &1 =M o180 9 26 di 3R 21l 9 23 9f @ Ui ¥ & fba- 8 82

(1) 46 (2) 47
(3) 48 (4) 49
Options :

92090692861. 1
92090692862. 2
92090692863. 3
92090692864. 4

Question Number : 17 Question Id : 92090623496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 fordt gY " ® ugd iR sifaw sl &1 Iy o ded ¢4 & dIc Seisi &7 el 3Rt
H 1 BI?

A 146
B. 453
C. 678
D. 254
E. 942

2 fau e fasedi # 9 Hel IR &1 944 $ifoid :

(1) AEBCD
(2) EBDAC
(3) ABDEC
(4) EACBD
Options :
92090692865. 1

92090692866. 2
92090692867. 3



92090692868. 4

Question Number : 17 Question Id : 92090623496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 fordt gY " ® ugd iR sifaw sl &1 Iy o ded ¢4 & dIc Seisi &7 el 3Rt
H 1 BI?

A 146
B. 453
C. 678
D. 254
E. 942

2 fau e fasedi # 9 Hel IR &1 944 $ifoid :

(1) AEBCD
(2) EBDAC
(3) ABDEC
(4) EACBD

Options :

92090692865. 1
92090692866. 2
92090692867. 3
92090692868. 4

Question Number : 18 Question Id : 92090623497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
uiE - iy, faftm, 9=, oA ok wefem v &9 W &% ©) 9ifirg, faftm & are 981 8
I, fee & a1e 941 & 33w usfan & |y =€ a1 ot i &9 & i RY W da1 g | 9=

T ¥ R ®H R g | i, [&ftF 3R vefda & aifed 81 <ifid SR 9= 9y 93 § 99
Hed H B 82

(1) GEEY (2) d=ad
(3) offd (4) fafo=



Options :

92090692869. 1
92090692870. 2
92090692871. 3
92090692872. 4

Question Number : 18 Question Id : 92090623497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

uie fiE-siftra, faftm, 9=, RAw SR wafdm ues o9 W &3 81 offfrg, faftm & @1g 91 8
e, e & a1¢ 941 § 33w wefda & wry 7€ 9e1 &l & 99 & 91 R w de1 8 | 9=
T ¥ R ®H R g | i, [&ftF 3R vefda & aifed 81 <ifid SR 9= 9y 93 § 99
Hed H B 82

(1) EEEl (2) dad
3) sifEd (4) fafg=
Options :

92090692869. 1
92090692870. 2
92090692871. 3
92090692872. 4

Question Number : 19 Question Id : 92090623498 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UP TSP & faF &1 3R g S gU, e aietl, “ag 74 A 31 THHE T 1Y 1 al &1
I d5® 4 o1 Had 87

(1) dgq (2) Wil
3y HI 4) =t
Options :

92090692873. 1
92090692874. 2
92090692875. 3
92090692876. 4

Question Number : 19 Question Id : 92090623498 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UP TSP & faF &1 3R g S gU, e aietl, “ag 74 A 31 THHE T 1Y 1 al &1
I A5® | 1 HaY 87

(1) dgq (2) Wil
3y HI 4) =t
Options :

92090692873. 1
92090692874. 2
92090692875. 3
92090692876. 4

Question Number : 20 Question Id : 92090623499 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= SEE B SIEU- 1368, 684, 228, 114, 38, ... 5U SGET AT ST FT EHI?
(1) 16 2 17

3 18 4) 19

Options :

92090692877. 1
92090692878. 2
92090692879. 3
92090692880. 4

Question Number : 20 Question Id : 92090623499 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=Y SEE DI SIEU- 1368, 684, 228, 114, 38, ........... 5U SEET AT HE&TT FT EFI?
(1) 16 ) 17

3) 18 4) 19

Options :

92090692877. 1
92090692878. 2
92090692879. 3
92090692880. 4



Question Number : 21 Question Id : 92090623500 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s afad A U Mg 1 Ui ¥ 36 U9 W16 SR 27 U4 I y=0i © |9 fu | ey ufawa
o 82

2 1
1 16= % 2) 33— %
(1) 3 (2) Wt
I 1
(3) 125 % (4) 665 %
Options :

92090692881. 1
92090692882. 2
92090692883. 3
92090692884. 4

Question Number : 21 Question Id : 92090623500 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s afad A e FiEE 47 Ui ¥ 36 U9 W18 SR 27 U4 I w0 © |9 fn | ey ufawa
o 82

2 1
1 16= % 2) 33— %
(1) 3 (2) T
I 1
(3) 125 % (4) 665 %
Options :

92090692881. 1
92090692882. 2
92090692883. 3
92090692884. 4

Question Number : 22 Question Id : 92090623501 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



farell BT w1 A 20 AT A, B 30 &A1 H 3R € 60 &A1 & R Iha1 g1 3 &x R 37 B iR
C & BRI A S el &1 Wil ol di GR1 H1d G S | fdbeH 5 aifil?

(1) 1s5feA 2) 12fem
3) 18fea 4) ofea
Options :

92090692885. 1
92090692886. 2
92090692887. 3
92090692888. 4

Question Number : 22 Question Id : 92090623501 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faefl drf &1 A 20 RATH, B 30 3T & 3R ¢ 60 AT H o2 Opar 81 ofe g R i B @R
C & GRI A DI Hergdl & Wl el d I $1Y GG H34 1 fave & @i

(1 15feA ) 12f
(3) 18fea 4) 9feq
Options :

92090692885. 1
92090692886. 2
92090692887. 3
92090692888. 4

Question Number : 23 Question Id : 92090623502 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“NAZIBABAD" e H Tl &1 fobaH YR ¥ saafeyd far o Uahdr §7

(1) 362880 (2) 30240
(3) 60480 (4) 90720
Options :

92090692889. 1
92090692890. 2
92090692891. 3
92090692892. 4



Question Number : 23 Question Id : 92090623502 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“NAZIBABAD" sz H auil &1 fhdl Ub R ¥ safeyd fban S wevan 87

(1) 362880 (2) 30240
(3) 60480 (4) 90720
Options :

92090692889. 1
92090692890. 2
92090692891. 3
92090692892. 4

Question Number : 24 Question Id : 92090623503 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

63 & 2/3 3R 93 & 1/3 BT 3R fasa=1 g7

(1 12 @) 31
(3) 21 @ 11
Options :

92090692893. 1
92090692894. 2
92090692895. 3
92090692896. 4

Question Number : 24 Question Id : 92090623503 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

63 & 2/3 3R 93 & 1/3 &7 3fd faea=11 S

(1) 12 ) 31
(3) 2 4y 11
Options :

92090692893. 1
92090692894. 2
92090692895. 3



92090692896. 4

Question Number : 25 Question Id : 92090623504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! | & Ty Gt 1| FT HaE S (@a X &1 uE v § Wi g 9 oEi $ US e
&1 UE B, U TIYUTS &1 B+, 1/6 Bl TS B-3R 1/8 Td §U Wi o TS € 3R 11 &1 U8 A
faar

gdl-| -l

(A) TS AU HA ard faemdial &t =gAas s m 6
B) TS B+ U & drd faendffai St zmam g () 4
(€) S B YK &Y drd faemdfdi &t =amd=m . () 3
(D) US B-WHH i st gaam i (v 8

A feu 7o fawedi § 9§ Wel 3T &1 944 S

(1) (A=), (B)-(IV), (C)-(l), (D)-(I1y

(2)  (A)-(IV), (B}-(II), (C)-(I), (D)-(I)

(3)  (A)-(l), (B)-(1), (O)-(IV), (D)-(1)

(4)  (A)-(1), (B)-(), (C)-(1), (D}-(IV)

Options :

92090692897. 1
92090692898. 2
92090692899. 3
92090692900. 4

Question Number : 25 Question Id : 92090623504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4! | & Ty Gt 1| T A S (@en X &1 uP wden § Wi g S oEl $ UE e
1 US B, U HIUTs & B+, 1/6 DI US B-3AR 1/8 el BU o [ U8 C iR I &1 I8 A
foan) -

gdl-| -l

(A) TS A VI HA ard faemdfal &1 gmay dem m 6
(B) TS B+ U &3 drdl [aemffdi 1l gmam d@=m () 4
(€ U BN & ard faendiai #t gaamdsm () 3
(D) U8 B- VI &3 drdl faemifdi dl gqam @@ (v) 8
3 3 e fasedl # 9 Wel IR &1 98- Sif:

(1) (A=), (B)-(IV), (C)-(1), (D)-(I1y

(2)  (A)-(IV), (B)-(I), (C)-(IN), (D)-(1)

(3)  (A)-(), (B)-(1), (O)-(1IV), (D)-(1)

(4)  (A)-(1), (B)-(), (C)-(1), (D}-(IV)

Options :

92090692897. 1
92090692898. 2
92090692899. 3
92090692900. 4

Part B: Textile Design

Section Id : 920906466
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906751
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090623505 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

In a typical fabric weaving no. of Reed required to weave terry is -

(1) Two {2} One
(3) Three {4) Four
Options :

92090692901. 1
92090692902. 2
92090692903. 3
92090692904. 4

Question Number : 26 Question Id : 92090623505 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e fafdme $ug @1 g8 U 28 & g9 & forg forait e 4 die @1 amazadar giil?

1 @ (2) TH
(3 dF 4) TR
Options :

92090692901. 1
92090692902. 2
92090692903. 3
92090692904. 4

Question Number : 27 Question Id : 92090623506 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fiber can be identified by burning on these stages -

A When approaching flame
Ash and Odour
When in flame

Dissolved in acid

m o N oW

After removed from flame

Choose the correct answer from the options given below :

(1) A, C Eonly
(2) A B C Eonly
(3) A B D Eonly
{

4) C, D, Eonly



Options :

92090692905. 1
92090692906. 2
92090692907. 3
92090692908. 4

Question Number : 27 Question Id : 92090623506 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T &1 S g Rl J 39 ugeH &1 91 9%l § -
A, 3= &1 saren & affoe gge o

B. M SR T g
C & s dal
D. HHHYE R
E  odldl 9 g0 & 0yl
A9 e mu faeedl | | odt I &1 9o Sifor
(1) &dd A CE
(2) &dd A B CE
(3) &$dd A BD,E
(4) &dd C D, E
Options :

92090692905. 1
92090692906. 2
92090692907. 3
92090692908. 4

Question Number : 28 Question Id : 92090623507 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following in not a natural cellulosic fibre from plant -

m Sisal {2} Henequen
(3)  Rayon (4) Hemp
Options :

92090692909. 1
92090692910. 2
92090692911. 3
92090692912. 4



Question Number : 28 Question Id : 92090623507 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frerferfea § 8 &9 w1 a8 urd wiofas Segalies e =8 67

(1  Hd (2) B
(3) A (4) &89
Options :

92090692909. 1
92090692910. 2
92090692911. 3
92090692912. 4

Question Number : 29 Question Id : 92090623508 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the process flow of an apparel industry in correct sequence -

A Sewing

B. Spreading
s Sampling
D. Finishing

E Cutting

Choose the correct answer from the options given below :
(1) B CAED

(2) CBEAD
(3} BCEAD
4 CBAED
Options :
92090692913. 1
92090692914. 2
92090692915. 3
92090692916. 4

Question Number : 29 Question Id : 92090623508 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ud qiver= I &t Ul vaTs &) 98l &4 § orafld &t

N £

B. hamr

C.  THATER

D. ufvss

E. el

A fow o faeedl F § |t IR &1 994 Sifa
(1) BCAED

(2} C,B.EAD

(3 B.C,EAD

(4) C.BAED

Options :

92090692913. 1
92090692914. 2
92090692915. 3
92090692916. 4

Question Number : 30 Question Id : 92090623509 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one is not an example of autornation in textile manufacturing -

(1 Network Logic System (NLS)

2) Computer Integrated Manufacturing (CIM)
(3) Computer Aided Design (CAD)
(4) Flexible Manufacturing Systems (FMS)

Options :

92090692917. 1
92090692918. 2
92090692919. 3
92090692920. 4

Question Number : 30 Question Id : 92090623509 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafafag 3 € &9 91 = fafaio & w@aas &1 v IgE a8 62
1) AAedd diferd Ry (NIS)

{
(2) SR soufes AglaEfi (CiMm)
(3) HrgeR Ufge fEmEA (cap)

(4) afegsd Bgheie ey (FMs)

Options :

92090692917. 1
92090692918. 2
92090692919. 3
92090692920. 4

Question Number : 31 Question Id : 92090623510 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : 'Khadi' was the symbol of a homespun independence in India, to
achieve Independence from British in the 19" Century.

Statement |l : The first mechanized cotton mill was established in India in 1854.

In the light of the above statements, choose the correct answer from the options
given below :

} Both Statement | and Statement |l are true
2 Both Statement | and Statement |l are false
)

{
(
{ Statement | is true but Statement | is false
t

4) Statement | is false but Statement |l is true

Options :

92090692921. 1
92090692922 2
92090692923. 3
92090692924 4

Question Number : 31 Question Id : 92090623510 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e @ sy fRu T B

@uA | ;10 df gt A fafee @ wadEa wifts &g @t yra & wndiar &1 uw udie ot
®YA 11+ URd H uym sfipmifret it fira 1854 ° wafda g3 o4

U HU & el |, 12 13y e el F 3 wel I &1 994 Sl

1) FH RN E

2) @Y SR EH SET S

3) U W & Ak Y || ST B
4)  HY| T §, A FYA 11 T B

sl R

(
(
(
{

Options :

92090692921. 1
92090692922. 2
92090692923. 3
92090692924. 4

Question Number : 32 Question Id : 92090623511 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is not an automated process control in weaving?

(1)  Automated Pick Repair (2} Automated Warp Repair
(3) Automated Warp breakage locator (4) Computerised Machine Control

Options :

92090692925. 1
92090692926. 2
92090692927. 3
92090692928. 4

Question Number : 32 Question Id : 92090623511 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fr=fafed 3 9 @19 W1 U §i15 A Teied yommedl e ¢l 8-

() o fOE gur (2) EEfeRd A guR
(3) wdifed arn e Pulve (4) Frgeiigd neiH Fdas

Options :
92090692925. 1
92090692926. 2



92090692927. 3
92090692928. 4

Question Number : 33 Question Id : 92090623512 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;

Statement|  : Ralph Lauren launched collection of men’s clothing inspired by the
sport PCLO.

Statement |l : Yves Saint Laurent was choosen as a head of 'House of Christian
Dior’.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement | and Statement Il are correct

(2) Both Statement | and Statement |l are incorrect

(3) Statement | is correct but Statement |l is incorrect

(4) Statement | is incorrect but Statement Il is correct
Options :

92090692929. 1
92090692930. 2
92090692931. 3
92090692932. 4

Question Number : 33 Question Id : 92090623512 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR sy Rume:

@ | Olel W 8 IR g 16 AN A U YT a5 &1 JH1d Bt ol
WY |1 - T3 He die $1 B1ed i hye ST & ugE & 0 8 9491 7/ U
IUIR HYH & MTels 8, i fqu 7 fReedl § 9 w8t 39w &1 994 @iy

(1) HUHIAR I TAR

(2) WY R ST s

(3) YA | T g, s YA 1| HTT B
(4)  HY| AT B, dfh HYA I I B

Options :

92090692929. 1
92090692930. 2
92090692931. 3
92090692932. 4

Question Number : 34 Question Id : 92090623513 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;

Statement|  : " The Color Meeting” in Paris is known as the concentration where
approximately forty plus leading fashion industries represents
yarns, textiles and garment manufacturers, designers, stylists, color
consultants and fashion forecasters gather together.

Statement Il  : The France major fabric and yarn fair is Premeir Vision, in Germany
it is called /ntersoft and in UK. Fabrea.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1 Both Statement | and Statement || are correct
(2) Both Statement | and Statement |l are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement Il is correct

Options :

92090692933. 1
92090692934. 2
92090692935. 3



92090692936. 4

Question Number : 34 Question Id : 92090623513 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@A | ofem | it - Ser P @ v O w1 & wu § @ G § 9wl
arefiy § ifie e I o, tegeda, g fafanfu, faaew, wRfae,
&1 e &1 wiofiee $30 8 ok Bem yai el o 9y taha 810 81

@Y 1| iF &1 UE $USI AR I Aol iR fGem g, off sl § gewdie oR
g% 1 el Hgardl g

Il ®uE & et #, A 3w v fawei § 4 g6l IR &1 9uH siferg

(1) SR NS TAE
(2)  FYI AR NI g 8
{

(

St

3)  HYFI9H ¢ o YA 1 AEa
4) &Y ATAE, AfEA FUH 1 TA B

Phanie

Options :

92090692933. 1
92090692934. 2
92090692935. 3
92090692936. 4

Question Number : 35 Question Id : 92090623514 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a traditional Kantha types of Bengal?

(1) Durjam (2) Lep
(3) Gavanti 4) Oar
Options :

92090692937. 1
92090692938. 2
92090692939. 3
92090692940. 4

Question Number : 35 Question Id : 92090623514 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

fFafafag § 9 &9 91, 9a &1 URAS Sy SR T8 87

(1) ger (2) @9
(3) e @) 3R
Options :

92090692937. 1
92090692938. 2
92090692939. 3
92090692940. 4

Question Number : 36 Question Id : 92090623515 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one below is not a type of Elastomeric fibre -

The crosslinked natural and synthetic rubbers.

)]
(2) Anidex fibre, the side by side biconstituent fibre of nylon and spandex.
(3) Spandex fibres

{

4) VINAL fibres (Combination of spandex and vinyl alcohol)

Options :

92090692941. 1
92090692942. 2
92090692943. 3
92090692944. 4

Question Number : 36 Question Id : 92090623515 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
+ite 2 10 H | B W U R &1 TRIRYed] 12 Ta) § -

(1) faudes uelas ok s Ee

2) UST BER, A R WSH 1 YgE® g sagd
3) WS W

(4) faema Y (g o faemaa sie@tea)

Options :
92090692941. 1
92090692942. 2



92090692943. 3
92090692944. 4

Question Number : 37 Question Id : 92090623516 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List 1l

(Type of Dyes) (Fastness)
(A) Pigment Dyes (i  Very poor in fastness to sea water
(B) Basic Dyes (Cationic) (1)  Poor (light shades) in fastness to light
(C) Disperse Dyes (I} Very poor (dark shades) in crocking
(D)  Sulfur Dyes (IV) Stains wool badly

Choose the correct answer from the options given below:

(1 (A)-(11), (B)-(IV), (C)-(H1), (D)-(1)
(2) (A)-(IE), (B)-(1, (C)-(IV), (D)-(l1)
3y (A)-(I1), (B)-(IV), (C)-(1), (D)-(H)
(4)  (A)-(IV), (B)-(HT), (©)-(1), (D-(l1)
Options :

92090692945. 1

92090692946. 2

92090692947. 3

92090692948. 4

Question Number : 37 Question Id : 92090623516 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & T g 1 1 e Sife

gdi-| (ST & UaR) gell-I1 (BT
(A) o () g od § Hfd e TEeE
(B) SMUR T (BfeaifFd) () WS T dgd bl (Geb T P)
(€ TEauganim () dgd &Y fREaTn @8I THn
(D) BT (V) TR ITEN e
e e T fad el § @ Hel IR &1 99 FIT

(1) (A)=(I1), (BY=(IV), (C)- (1), (D)-(1)
2} (A)-(In, (B)-(1), (C)-(IV), (D)-(I)
3} (A)-(), (B)-(IV), (C)-(1), (D)-(I)
(4)  (A)-(IV), (B)-(1), (C)-(1), (D)-(11)

Options :

92090692945. 1
92090692946. 2
92090692947. 3
92090692948. 4

Question Number : 38 Question Id : 92090623517 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Ribbed weave fabric is also known as unbalanced fabric.

Reasons (R): A balanced fabric would have the warp and filling yarns as well as the
yarns per inch of both warp and filling yarns exactly the same.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R} are correct and (R) is the correct explanation of (A)
(2} Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3} [A) is correct but (R) is not correct

{4) (A) is not correct but (R) is correct

Options :
92090692949. 1
92090692950. 2



92090692951. 3
92090692952. 4

Question Number : 38 Question Id : 92090623517 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 G FyA U e 8 U HNFHYA (Assertion A) & wY H fifEd 8 ol gOv 39
@R[ (Reason R) & T4 T

HUSYT A © IR G GUSYS B Sdfed $US & 9 H ot &1 S 21

HRUIR U Hgferd HUS § a1 T WIS ¥ & 91Y-9 a1 SR WS 93 & uid §9
H90- 94 e g

UG HYA & el § A fau v fawedl § O 98 I &1 904 $ifere

(1) A3MRRIFITEE SRR A D G B R

(2) A SRREH T8l 8 df9 R, A T U6l SIREN 6l &
{

{

£

3) AYRIE AFIRUT TRl
4 ATGTEIE AFTRTEI®

St

Options :

92090692949. 1
92090692950. 2
92090692951. 3
92090692952. 4

Question Number : 39 Question Id : 92090623518 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the statement is not true for basket weave?

(1) In two by two basket weave, the warp yarns in pair interlace in plain weave order
with the filling yarns in pair.

(2)  Basket weave fabrics are made with high yarns per inch with low twist yarns to
increase the weave effect.

(3) Fabrics with basket weaves are reversible unless the finish or print makes are one
side an the face.

(4) Basket weave is a type of decorative weave.

Options :

92090692953. 1
92090692954. 2
92090692955. 3



92090692956. 4

Question Number : 39 Question Id : 92090623518 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sl g5 & for &1 |1 U | T8l @

(1) ag%nagﬁgﬁ;ﬂqaﬁﬁamqaa?#@mﬁ@%#@%mﬂmmﬁﬁ
Ty |

(2) TN FTEC IA FUSI AR d Ao SRR FRu g R ST A TS
a1y 9 orE are G | S e g

(3) SHe g8 & FUe ulaadi gid 8, 99 9% uRHl 91 B Fad U a9 a4 1
S|
(4) Y IS U YR DI Gogd 18 2

Options :

92090692953. 1
92090692954. 2
92090692955. 3
92090692956. 4

Question Number : 40 Question Id : 92090623519 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not an embroidery of Gujarat?

(1) Moti Bharat (2} Mochi Bharat
(3) Heer Bharat (4) Thirma
Options :

92090692957. 1
92090692958. 2
92090692959. 3
92090692960. 4

Question Number : 40 Question Id : 92090623519 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frfefad 4 4 o 4 seieer ([ sg) TR @1 76 8

(1) Hidl 4 (2) HrE I
(3) BRIYd (4) TeRmm
Options :

92090692957. 1
92090692958. 2
92090692959. 3
92090692960. 4

Question Number : 41 Question Id : 92090623520 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List I ;

List | List 1l
(A) Top dyeing ()  After yarn has been
constructed into fabric
(B) Piece dyeing () In combed sliver stage
{C) Dope dyeing (1) In the fiber stage
(D) Stock dyeing (V) Before a manmade fiber

extruded through a spinneret

Choose the correct answer from the options given below:

(M (A=, (B)-(1), (C)-(1V), (D)-(11)

(2)  (A)-(), (B)-(1V}, (C)-(1N), (D)-(1)

(3)  (A)-(I, (B)-(IV), (C)-(1), (D)-(11)

(4} (A)-=(l), (B)-(1), (CQ)-(I), (D)-(1V)
Options :

92090692961. 1
92090692962. 2
92090692963. 3
92090692964. 4

Question Number : 41 Question Id : 92090623520 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g | & Y g 1 &1 HaE Sifer
- -l

(A) 2SI o 38 Fel fafaio R & e

(B) Ui ST () dreftgra gt TR |

(C) SUEH (i ¥=m o H

(D) b BRI (av) arFE-Ffdd W@ @ dg-ify 9 Peseifia s
R

19 fGu e fasedl © § w8l I &1 999 P

(1) (A=, (B)-(1), (C)-(1V), (D)-(H1)
(2)  (A)-(), (B)-(1V), (C)-(lI), (D)-(1)
(31 (A=, (B)-(1V), (C)-(1), (D)-(li)
(@) (A=), (B)-(1), (Ch-(), (D)-(1V)

Options :

92090692961. 1
92090692962. 2
92090692963. 3
92090692964. 4

Question Number : 42 Question Id : 92090623521 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| @ “Indanthrene” indicates that a special type of dye has been used
that is particularly fast to light and to washing.

Statement |l : The chemical agent that binds the dye to a fiber is known as
“mordant”.

In the light of the above statements, choose the correct answer from the options
given below :

(1 Both Statement | and Statement |l are correct
(2) Both Statement | and Statement [l are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement |l is correct

Options :
92090692965. 1
92090692966. 2



92090692967. 3
92090692968. 4

Question Number : 42 Question Id : 92090623521 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A diswriRumue:
HYF | - “SEAUT U ARy R & e (EF) &1 &, Ol U 2R T
. ¥ad el

&Y || T Y I &1 iy gl S HHG Hise Fedad gl
TR FUA S ofens o = v o faeer § 9 98 IR &1 90 S

(1) @Y1 3R 1S T §
(2) YIS EHT A §
(3) &Y HEl g, Al &Y 11 e 8
(4) Y| ITEA §, Ah B |1 el

Options :

92090692965. 1
92090692966. 2
92090692967. 3
92090692968. 4

Question Number : 43 Question Id : 92090623522 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The wrinkle recovery of a fabric doesn't depend on which factor given below -

(1) Fiber content of the fabric (2) Color fastness of the fabric
(3) Thickness of the fabric (4) Weave of the fabric
Options :

92090692969. 1
92090692970. 2
92090692971. 3
92090692972. 4

Question Number : 43 Question Id : 92090623522 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

s $US H Yege ufamity - e v g sre W anufa 16 gl -

(1) &S o = gneh (2) HUYS F Y B YFRHIOA
(3) HUS DI HICR (4) BUS PG
Options :

92090692969. 1
92090692970. 2
92090692971. 3
92090692972. 4

Question Number : 44 Question Id : 92090623523 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Renowned couturier "Paco Rabanne” created twelve contemporary dresses in 1965 and
named them -

(1) The Wearables (2) Wearable art
(3} The Unwearables (4) Mew Look
Options :

92090692973. 1
92090692974. 2
92090692975. 3
92090692976. 4

Question Number : 44 Question Id : 92090623523 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%W%mm"mﬁﬁﬁaﬁmﬁﬁuweﬂ?waﬁaﬂwﬁﬁw
A g

(1) fameEs (2) faovead and
(3) @t srFfauvsay (4) AP
Options :

92090692973. 1
92090692974. 2
92090692975. 3
92090692976. 4



Question Number : 45 Question Id : 92090623524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 2/1 twill weave refers to -

(1 Two up, one down (2) One up, two down
(3) 2 diagonals upward to right (4) 2 diagonals upward to left
Options :

92090692977 1
92090692978. 2
92090692979. 3
92090692980. 4

Question Number : 45 Question Id : 92090623524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ueh 2/1 Tdid G418 &1 HU 8 -

(1) ST TS A (2) UH FU, &l

3) @ faeu S EnE o (4) @ faen U R R
Options :

92090692977 1
92090692978. 2
92090692979. 3
92090692980. 4

Question Number : 46 Question Id : 92090623525 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is not Handloom variation in lndia?

(1) Treadle loom (2} Pit loom
(3} Rapier loom (4) Loinloom
Options :

92090692981. 1
92090692982. 2
92090692983. 3
92090692984. 4



Question Number : 46 Question Id : 92090623525 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

79 W 1 G HRd H SSTH 1 U Il Tal 67

(1) ofga & (2) foe &
(3) Yo (4) TS ST
Options :

92090692981. 1
92090692982. 2
92090692983. 3
92090692984. 4

Question Number : 47 Question Id : 92090623526 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is grain line in a fabric?

(1) Direction of warp and weft (2} Direction of weft
(3} Angle of twill weave {(4) Direction of warp
Options :

92090692985. 1
92090692986. 2
92090692987. 3
92090692988. 4

Question Number : 47 Question Id : 92090623526 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U HUS H U I8 187

(1) dF R F @ 2= (2) @ B! e
3) feags 1P (4) oA 3!
Options :

92090692985. 1
92090692986. 2
92090692987. 3



92090692988. 4

Question Number : 48 Question Id : 92090623527 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bukhia and Katao styles are type of -

1) Kasheeda of Kashmir (2) Phulkari of Punjab
(3) Chikankari embroidery of Lucknow (4) Kantha of Bengal

Options :

92090692989. 1
92090692990. 2
92090692991. 3
92090692992. 4

Question Number : 48 Question Id : 92090623527 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s 3 werel Il fFg & woR §-

(1) HIHR & HE (2) UETE B FABRI
(3) @S o Heaerl seE (4) SIS B Hiwl
Options :

92090692989. 1
92090692990. 2
92090692991. 3
92090692992. 4

Question Number : 49 Question Id : 92090623528 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Achromatic colors also known as =

(1 Colors within colors (2} Monochromatic colors
(3) Meutral colors (4) Complimentary colors
Options :

92090692993. 1
92090692994. 2



92090692995. 3
92090692996. 4

Question Number : 49 Question Id : 92090623528 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

She® T CaEau k=R EC IC R iG

(1) WEa (2) HFEEREE T
3) e (4) SFEUEE 0
Options :

92090692993. 1
92090692994. 2
92090692995. 3
92090692996. 4

Question Number : 50 Question Id : 92090623529 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Analogous or Adjacent color scheme indicates neighbouring
colours of the color wheel.

Statementll : ‘The Triad Harmony' is the combination of three equidistant
colours on the colour wheel.

In the light of the above statements, choose the correct answer from the options
given below :

1) Both Statement | and Statement |l are true
.
3

4) Statement | is false but Statement Il is true

Both Statement | and Statement |l are false

Tt

Statement | is true but Statement Il is false

i

(
(
(
(

Options :

92090692997. 1
92090692998. 2
92090692999. 3
92090693000. 4

Question Number : 50 Question Id : 92090623529 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A3 @ FyA g e §:

YA | ;e a1 Fadead! 1 die, T 9w & geiy S @ g g |
HYH 11 T TS TRAFT 1 96 T A1 JugTRy T &1 Jaier g
TUIR PYH $ 2ciep H, 19 U 7 el # | 96l IR &1 994 i

(1) @AM

)
(2) FYI RN AT
(3) HYTITI G Ulp By I 3T g
(4) TGO AFTIFUH I TS
Options :

92090692997. 1
92090692998. 2
92090692999. 3
92090693000. 4

Question Number : 51 Question Id : 92090623530 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Full form of NITRA

1 Morth India Textile Research Association

N Morthern India Textile Research Association

(

(2} Morth Indian Textile Research Association

(

(4)  Northern Indian Textile Research Association

Options :

92090693001. 1
92090693002. 2
92090693003. 3
92090693004. 4

Question Number : 51 Question Id : 92090623530 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



NITRA 1 faega &1
1) i teerga frad waifieeE

{

) A Efege eaered frad vaiiRE

(3)  Aled fem damesa frasd uaiRoeE

(4) Afed sfegq coueRd fad udiftues
Options :

92090693001. 1
92090693002. 2
92090693003. 3
92090693004. 4

Question Number : 52 Question Id : 92090623531 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

With exceptionally high pollutant discharge level textile industry is one of the most
polluting industries in the world, reasons being.

A Non - biodegradable dyes

Chemicals released during treatments and finishing

Toxic released during garment washing

Pesticides used during agriculture

mE g,

Product Stitching

Choose the correct answer from the options given below :

(1) B, C D Eonly
(2} A B C Donly
(3) GCDEAonly
(4} D, E A Bonly

Options :

92090693005. 1
92090693006. 2
92090693007. 3
92090693008. 4

Question Number : 52 Question Id : 92090623531 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HEHYRY U E I TR UG arel a6 321, [y # gaflie yguuerl 3ot & 4 us &
TP PRUG

A TR aEfEidsd s

B. JUEN R uRssul & SR Fidbar ardt 3argA
C 9 YA & IRA Feer ara fawred a@

D. PN & IR W BicAID

E Jde e

19 f3u e faseul & 9 9l IR &1 904 Fifon -

(1) @ddB,CD,E

(2) SHEAABCD
(3) &HFACDE A
(4) FEED,E A B

Options :

92090693005. 1
92090693006. 2
92090693007. 3
92090693008. 4

Question Number : 53 Question Id : 92090623532 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of these not a natural polymer?

(1) MNylon (2) Rubber
(2) Alginate (4) Acetate
Options :

92090693009. 1
92090693010. 2
92090693011. 3
92090693012. 4

Question Number : 53 Question Id : 92090623532 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I B T W T

(1) e (2) V&S
(3) UfeE (4) uRree
Options :

92090693009. 1
92090693010. 2
92090693011. 3
92090693012. 4

Question Number : 54 Question Id : 92090623533 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : Reed count = EPI/(1+Weft Crimp % age)
Statement |l : Reed width = Cloth Width *(100+ Weight Crimp % age)/100

In the light of the above statements, choose the correct answer from the options
given below :

(1 Both Statement | and Statement Il are true
(2
(3)

(4)  Statement | is false but Statement Il is true

Both Statement | and Statement |l are false

—t

Staternent | is true but Statement || is false

Options :

92090693013. 1
92090693014. 2
92090693015. 3
92090693016. 4

Question Number : 54 Question Id : 92090623533 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



{2 gy Ry g
@Y | - 38 T0FA = EPI/(1+ 30 T % o)

HY || - e AeTE = FUS H1 S *(100+3¢ fobm % 3my/100

IR FYA & HTed H, Aid fou mu faeedl § 9 98 I &1 994 ifeu

(1 YR IEEI a8

)
(2) HYF IR IEH ITTE
(3) YT |G g, Al B | 3T ©
(4) YT | HHA ¢, Al HYA I T 8
Options :

92090693013. 1
92090693014. 2
92090693015. 3
92090693016. 4

Question Number : 55 Question Id : 92090623534 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which fibre is a regenerative cellulosic fibre?

(n Rayon {2} Cotton
(3)  Silk (@) Jute
Options :

92090693017. 1
92090693018. 2
92090693019. 3
92090693020. 4

Question Number : 55 Question Id : 92090623534 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

14 91 ¥ U afel Aegaie Y g?

(1) WA (2) ¥
3) WH (4) G
Options :

92090693017. 1



92090693018. 2
92090693019. 3
92090693020. 4

Question Number : 56 Question Id : 92090623535 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 Ply 40 Denier means:

(1) 2 yarns ply of 40 Denier each (2) 2 vyarns ply of 20 Denier each
(3) 2 yarns ply of 80 Denier each (4) 4 yarns ply of 10 Denier each
Options :

92090693021. 1
92090693022. 2
92090693023. 3
92090693024. 4

Question Number : 56 Question Id : 92090623535 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 s 40 SRR @1 o &

(1) Ud® 40 SR 31 2 g0 @ig (2) UA® 20 SAW D1 2 Yd @y
(3) U@ 80 ST #1 2 g w@irg (4) UA® 10 ST BT 2 Yd s

Options :

92090693021. 1
92090693022 2
92090693023. 3
92090693024. 4

Question Number : 57 Question Id : 92090623536 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement| : The shading is caused by uneven tensions on the fabric in beam-
dyeing.
Statement |l : Beam-dyed fabrics are not subject to the stresses and tensions

commaon to jig and pad methods of dyeing.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement |l are true

(2) Both Statement | and Statement |l are false

(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

Options :

92090693025. 1
92090693026. 2
92090693027. 3
92090693028. 4

Question Number : 57 Question Id : 92090623536 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fo S sy fRRumu g
FYF | ; 91 S H HUS O AGUH d99 F BRI SiH Bl 8

&Y 11 dI9-81E0 8 W g US| 5 v U s fafedy F ud 9 arel fged iR
a4 Higg =8l grd|

I ®UH & are A, A fu v fawedi § 9 udl S &1 9ud eifo

(1) SFHIMRNEAITAE

(2) &I AR EFT AT E

(3) @Y 9 B, oifdh Y 1| EU 8
(4) @Y AT g, AT DU FU B

Options :

92090693025. 1
92090693026. 2
92090693027. 3
92090693028. 4

Question Number : 58 Question Id : 92090623537 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Movelty yarns are not formed by:

(1) Uniform thickness {(2) Loops inyarmn
(3) Knots in yarn (4) Curlsinyarn
Options :

92090693029. 1
92090693030. 2
92090693031. 3
92090693032. 4

Question Number : 58 Question Id : 92090623537 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tlaed] g3 FERICGE EHE G

(1) GHHEHER (2) HHHUG
(3 PWHWS (@) HWHHIA
Options :

92090693029. 1
92090693030. 2
92090693031. 3
92090693032. 4

Question Number : 59 Question Id : 92090623538 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Polypropylene type of Olefin (Manufactured) fiber is thermoplastic and
resistant to mildew, thus used for industrial applications.

Reasons (R) : Polypropylene fibers have a soft, hand resembling wool/Kashmere thus
used for apparel and home furnishings.

In the light of the above statements, choose the correct answer from the options given
below :

(1 Both (A) and (R) are true and (R} is the correct explanation of (A)

(2) Both {A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Options :

92090693033. 1
92090693034. 2
92090693035. 3
92090693036. 4

Question Number : 59 Question Id : 92090623538 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A1 & HYA U T §: U B UA (Assertion A) F &0 1 fafad § o g Iud
HRO (Reason R) & FY H;

Hipya A ;- e () Y2 @ ool geR wmiafes ok eid ufadd
Bl € 3R gafo sfenfe seydmmd Judn fem s )

HRUIR : afeftdrae= Y2 & =, g S feerg 27 g /el g €, el
FHET IUAN ofveme i eNe OTe-Tea g fem s 21

IR HUA & e |, A e e fawed | | wet 3w @1 99+ @i
(1) A SRR T g TR, AT U aIEN 8

@) AR R 9Y g B R A B HEl B 7] &

(3) ATUE AfBARITTE

(4) AITAE AfFIRTAE

Options :
92090693033. 1
92090693034. 2



92090693035. 3
92090693036. 4

Question Number : 60 Question Id : 92090623539 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mulberry is a kind of

(n Waool (2) Silk
(3) Cotton silk blend (4) Flax blend
Options :

92090693037. 1
92090693038. 2
92090693039. 3
92090693040. 4

Question Number : 60 Question Id : 92090623539 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MWEUHUBRB 3l

(1) &4 (2) &M

(3) Iy gy Hury (4) Telay gigyor
Options :

92090693037. 1
92090693038. 2
92090693039. 3
92090693040. 4

Question Number : 61 Question Id : 92090623540 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) :  Felt does not fray or ravel.
Reasons (R) : Felt fabrics can be blocked to shape in all directions

In the light of the above statements, choose the most appropriate answer from the
options given below :
(1) Both (A} and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are carrect but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct
(4) {A) is not correct but (R) is correct
Options :
92090693041. 1
92090693042. 2

92090693043. 3
92090693044. 4

Question Number : 61 Question Id : 92090623540 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 ) FuA 3U U §: U SHHSYA (Assertion A) & w9 H fifEd g o gav g8
&R (Reason R) & ¥4 ff

YA A . Uee IYSdl U1 Il T8l 8
HRUIR : Tree ®US &1 gl fEunall § R 29 8 =dle fa o gaan 2|
JUER Y F e §, 1 v e el | 9 w4l 3w & ggh Fifon

(1) ASRREFIYE R AD Hel TS 8

(2) A SRREH 9 g AP R, A D Gel SIS 6l §
(3) AYHE AfFTRITAE

(4) ANTIE AFTRUAE

e

Options :

92090693041. 1
92090693042. 2
92090693043. 3
92090693044. 4

Question Number : 62 Question Id : 92090623541 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List | with List I :

List | List I
(&) Kanchipuram sarees {I)  Aurangabad
(B) Paithani sarees {1 Tamil Nadu
(C) Baluchari sarees (1) Murshidabad
(D) Jamdani sarees {(IVY Dhaka

Choose the correct answer from the options given below:

(1) (A)-(IV), (B)-(1), (C)-(l1), (D)-(I)
(2} (A)-(, (B)-(1), (Q)-(I), (D)-(IV)
(3)  (A)-(lIT), (B)-(1), (C)-(IV), (D)-(11)
(@) (A=, (B)-(1), (C}-(1), (D)-(1V)

Options :

92090693045. 1
92090693046. 2
92090693047. 3
92090693048. 4

Question Number : 62 Question Id : 92090623541 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il | & |y g 1 @ A sifen

- -1
(A) s gyl () SEEg
(8) U Tifza ) afieEng
© agEd s D (EA LI
(D) wHEH! aifEy (1v) BTl
4 fu o fawadl | & 98 IR &1 994 sife

(10 (A)-(V), (B)-(1), (C)-CID), (D)-(HI)
(2)  (A)-(l), (B)-=(1), (C)-(1hn), (D)-(1V)
(3Y (A, (B)-(, (Q)-(IV), (D)-(1)
(4y  (A)=(H), (B)-(1H), (C)-(1), (D)-(1V)

Options :
92090693045. 1
92090693046. 2



92090693047. 3
92090693048. 4

Question Number : 63 Question Id : 92090623542 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What foreign contents are present in greige fabric that are required to be removed for
further process

(1 Cils and Waxes (2) Chemicals
(3 Moisture 4y Odour
Options :

92090693049. 1
92090693050. 2
92090693051. 3
92090693052. 4

Question Number : 63 Question Id : 92090623542 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gﬁa@m@ﬁﬁ@wmmm%mmmmamﬁwmm

(1) da{Rdm (2) TETE
(3) (4) Ty
Options :

92090693049. 1
92090693050. 2
92090693051. 3
92090693052. 4

Question Number : 64 Question Id : 92090623543 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ramie fibre is also known as :-

(1 White fibre / China grass (2) Hemp
(3) Jute (4} Bamboo



Options :

92090693053. 1
92090693054. 2
92090693055. 3
92090693056. 4

Question Number : 64 Question Id : 92090623543 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt ¥ 9 9 i S S |

(1) &a e/ am 2) Tm
3 ¢ (4) @
Options :

92090693053. 1
92090693054. 2
92090693055. 3
92090693056. 4

Question Number : 65 Question Id : 92090623544 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What does tenacity in fabric refer to?

(1 Colour fastness against sunlight (2) Strength of textile fabric
(3) Rub fastness (4} Fibre content
Options :

92090693057. 1
92090693058. 2
92090693059. 3
92090693060. 4

Question Number : 65 Question Id : 92090623544 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HUS P TUGT] BT 7 34 27

1y wWalwsFRrgwaRrm (2 7969 F $u o gogd
3) VIS & fwg el R (4) & gt

Options :

92090693057. 1
92090693058. 2
92090693059. 3
92090693060. 4

Question Number : 66 Question Id : 92090623545 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Thickner, used as a medium to make printing paste can not be made from which of the
following :-

(1) Man-made gums (2} MNatural gums
(3) Polymer based gums (4) Silicon based gums
Options :

92090693061. 1
92090693062. 2
92090693063. 3
92090693064. 4

Question Number : 66 Question Id : 92090623545 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wurg ({ifém I s §q ue T & w0 A7 39 fhu oM aren e freifed 3 @
R EREC ISR CTIE

(1) °=4 fAfifd i (2) wIFHfas g
3)  oiferR snurfed g 4) Fefteia snefea Tifg
Options :

92090693061. 1
92090693062. 2
92090693063. 3
92090693064. 4



Question Number : 67 Question Id : 92090623546 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Advantages of Flat bed printing

(1) Cost of screen preparation is lowest

(2} Half tone design are easy to achieve
(3)  Length wise stripe design possible

(4) Big size screen pattern possible

Options :

92090693065. 1
92090693066. 2
92090693067. 3
92090693068. 4

Question Number : 67 Question Id : 92090623546 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Uele 98 BUTS & a1

(1)  GBF J9R &34 & ad $9 9 F49 8l
2) efper fEaes efa s awa g

(3) EEEaR uHl feuEa gya g

(4) 98 PR FIEHH e dHT 8
Options :

92090693065. 1

92090693066. 2

92090693067. 3

92090693068. 4

Question Number : 68 Question Id : 92090623547 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The weight of 1,260,000 yards of 30's cotton yarn single ply, 2-ply (2/30's) and 3-ply
(3/30's) yarn would be respectively (in kgs)

(1) 40 kgs, 80 kgs, 160 kgs (2) 45 kgs, 90 kgs, 180 kgs
(3)  22.5kgs, 45 kgs, 90 kgs (4) 180 kgs, 90 kgs, 45 kgs

Options :



92090693069. 1
92090693070. 2
92090693071. 3
92090693072. 4

Question Number : 68 Question Id : 92090623547 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

30's & Yot 41 &1 U TS, 2-T@T5 (2/30's) R 3-TaTS (3/30's) YT T 1,260,000 TH BT HR
a: (foen 9 ) 8 -

(1) 4o faran o, so fawen o0, 160 @ o,

@ 45 e a, 9o fasen w1, 180 fsa .

(3) 225 fael o, 45 faet 7, 9o fared 7,

@) 180 faem U1, oo a5 a1, 45 fa o

et

Options :

92090693069. 1
92090693070. 2
92090693071. 3
92090693072. 4

Question Number : 69 Question Id : 92090623548 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tussar silk is also called as

(n Treated silk (2} Wild silk
(3 Fine silk (4) Green silk
Options :

92090693073. 1
92090693074. 2
92090693075. 3
92090693076. 4

Question Number : 69 Question Id : 92090623548 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UL T & 1l w51 S B

(1) Iudiid ¥eE (2) FUIH
(3) dfgmym (4) BUIYH
Options :

92090693073. 1
92090693074. 2
92090693075. 3
92090693076. 4

Question Number : 70 Question Id : 92090623549 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Twist of yarn in clockwise direction is called :

(1) S twist (2) Ztwist
(3} M twist (4) M twist
Options :

92090693077 1
92090693078. 2
92090693079. 3
92090693080. 4

Question Number : 70 Question Id : 92090623549 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl & g 1 3§ W & q0E 1 FEd § -

(1) SYAE (2) z9Ad
(3} N HHd (4 ™M YHIG
Options :

92090693077. 1
92090693078. 2
92090693079. 3
92090693080. 4

Question Number : 71 Question Id : 92090623550 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The textile parcel train runs between which of the two states -

(1) Tamilnadu - Gujarat (2) Rajasthan - Bihar
(3) Gujarat - Bihar (4) Gujarat - Telangana
Options :

92090693081. 1
92090693082. 2
92090693083. 3
92090693084. 4

Question Number : 71 Question Id : 92090623550 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eqeTsa Urdd o fde g1 Il & ot gl 82

(1) g - TeRTd (2) TR - fagR
3) TR -faER (4) TG - AETH
Options :

92090693081. 1
92090693082. 2
92090693083. 3
92090693084. 4

Question Number : 72 Question Id : 92090623551 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Covered elastic yarns have core yarn as :

(1 Cotton (2) Polyester
(3) Spandex (4) Mylon
Options :

92090693085. 1
92090693086. 2
92090693087. 3
92090693088. 4



Question Number : 72 Question Id : 92090623551 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F9S TR G H oRUT G R

(n I (2) Ul
3) W3 (4) GG
Options :

92090693085. 1
92090693086. 2
92090693087. 3
92090693088. 4

Question Number : 73 Question Id : 92090623552 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Properties of Acid dyes are :

(1) Good light fastness (2) Good wash-fastness
(3) Poor colour uptake (4 Good for cotton or cellulosic fibres
Options :

92090693089. 1
92090693090. 2
92090693091. 3
92090693092. 4

Question Number : 73 Question Id : 92090623552 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HFATG SR U T

() o Tl F R (2) sl yars R

3) P araeio @) gl a Segafye v & for gan
Options :

92090693089. 1
92090693090. 2
92090693091. 3
92090693092. 4



Question Number : 74 Question Id : 92090623553 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : Jute has no Lusture.

Statement Il : Cotton is the strongest natural fibre.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement [l are correct
(2) Both Statement | and Statement |l are incorrect
(3) Statement | is correct but Statement |l is incorrect

(4) Statement | is incorrect but Statement |l is correct

Options :

92090693093. 1
92090693094. 2
92090693095. 3
92090693096. 4

Question Number : 74 Question Id : 92090623553 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GERAEaTC AT

& | ; o | 90 T8 gt

HYA || : Gd Falfid Togd I ¢

JUIE FUA F sieies H, 9 AU T faged] ¥ @ wel IR &1 99 Fif

(1) HY 1SRN EH T8 §
() HYA 1 AR 1 e §
(3) U HE e, Af duA nEd 8
(4) YT 8, AfE Y 1 HEl 8
Options :
92090693093. 1
92090693094. 2

92090693095. 3
92090693096. 4



Question Number : 75 Question Id : 92090623554 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following fabrics is the lighest in weight?

(1) Fabric A - 603/yd - 40" wide (2) Fabric B - 603/yd - 45" wide
(3} Fabric C - 603/yd - 50" wide (4) Fabric D - 603/yd - 58" wide
Options :

92090693097. 1
92090693098. 2
92090693099. 3
92090693100. 4

Question Number : 75 Question Id : 92090623554 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frefafaa 3 @ @19 9 $us] a99 § 99 el 67

(1)  PHUSTA - 60379 - 40" TS (2) HYSIB - 605/7T4 - 45" 1T
(3) PUSIC - 603/ - 50" TSl (4) HUSID - 603/7TS - 58" AIS
Options :

92090693097. 1
92090693098. 2
92090693099. 3
92090693100. 4

Question Number : 76 Question Id : 92090623555 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Fusible nonwoven fabrics contribute to lower costs and higher
production rates in apparel manufacturing.

Reasons (R) : Fusible nonwoven fabrics replaced the need for highly skilled tailoring
and stitching on the underlined portions of tailored clothing.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 {A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

92090693101. 1
92090693102. 2
92090693103. 3
92090693104. 4

Question Number : 76 Question Id : 92090623555 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 31 Hy U MU §: U AHfiEuA (Assertion A) & ¥ 1 foifEd & o g1 39S
@R[ (Reason R) & ¥ &

HftpyE A - TEeElld IR-gAEd U aita Fofon O o0 ard SR 39 Saega @ o
GRTEH F3 8

HRUIR : Ta-Eie TR-garad] susl A faafan sl & R & el w e o
ey pare foems &t snasgmar &1 uforenfia &

JURIaR @Y o ATl 4, Ag fgu 71U faeedt & 9 98l I &1 994 difag
(1) ARRI TS & IR, A &GS BT 8

(2) AJRRIFEITE E AP R AP TR @I AL ©

(

3) AWglE AfFTR TG TRl 8
4 AGSIEIe dAfFTREEE

iy

Options :
92090693101. 1
92090693102. 2



92090693103. 3
92090693104. 4

Question Number : 77 Question Id : 92090623556 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a protein fiber obtained from camel?

(1) Mohair (2) Alpaca
(3 Cashmere (4} Pashmina
Options :

92090693105. 1
92090693106. 2
92090693107 3
92090693108. 4

Question Number : 77 Question Id : 92090623556 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frefafaa 3 G &= o de 3 U Uida | e

(1) =gl (2)  HEATH]
3) SR 4) g
Options :

92090693105. 1
92090693106. 2
92090693107. 3
92090693108. 4

Question Number : 78 Question Id : 92090623557 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which dye is used on pattern paper for heat transfer printing?

(1 Disperse Dye (2) Sulfuric Dye
(2) WVat Dye (4) Acid Dye
Options :

92090693109. 1
92090693110. 2



92090693111. 3
92090693112. 4

Question Number : 78 Question Id : 92090623557 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aTg iRy s & o Oed erd W e S @1 Iugi faEa S g2

1 fead el (2) G 818
3) dCTE (4) arfla 318
Options :

92090693109. 1
92090693110. 2
92090693111. 3
92090693112. 4

Question Number : 79 Question Id : 92090623558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement| : ‘Menthi' is the fourth type of stitch which means the ordinary
cross stitch.

Statement [l : In Karnataka 'menthi’ means fenugreek.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement H are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

Options :

92090693113. 1
92090693114. 2
92090693115. 3
92090693116. 4



Question Number : 79 Question Id : 92090623558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e @y Ry g

&y |« T Y UER &1 fhers 2, forget e g armon uia-fers |
&Y | : FATed H Tt &1 o g gl

IR HYA & el B, Aid fou 1y fawed § 9 gl 3w &1 999 Biforg

(1) FFEI AT TE

@ RN EE S

(3) &Y | H g, dfth YA 11 39 8
(4)  @HUF| A g, AT Y 1 I 8
Options :

92090693113. 1

92090693114. 2

92090693115. 3
92090693116. 4

Question Number : 80 Question Id : 92090623559 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What properties are considered in burning test

(1) Color of fabric

(2) Melting characteristic of fibre and remains after burning
(3)  Weight of fabric

{4)  Strength of fabric

Options :

92090693117. 1
92090693118. 2
92090693119. 3
92090693120. 4

Question Number : 80 Question Id : 92090623559 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e g o fos= 1oif ov faer fasar i g2

(1) HUSHI

2) & Oged &t lTdwd iR 994 & 915 & a9y
(3) HUS FIdH

(4) HUS B! A

Options :

92090693117. 1
92090693118. 2
92090693119. 3
92090693120. 4

Question Number : 81 Question Id : 92090623560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is a demerit of nylon?

1) Nylon is unaffected by alkalies
2
3

—

Nylon build up static electricity

et

Nylon has abrasion resistance

(
(
(
(4) Nylon is resilient and elastic

Options :

92090693121. 1
92090693122. 2
92090693123. 3
92090693124. 4

Question Number : 81 Question Id : 92090623560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFr=fefaa 8 @ &9 91 ATaEl &1 0P Sl 7
(1) AV &R gR1 Smyufad &

2 e e fAegges evar g

(3)  ArdrE o e ufeRiy g

(4) A ufaded o adten g g

Options :



92090693121. 1
92090693122. 2
92090693123. 3
92090693124. 4

Question Number : 82 Question Id : 92090623561 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il ;

List | List 1l
(A) Relaxation shrinkage (I}  Shrinkage after pre-shrunk
(B) Progressive shrinkage (Il Cut fibers on the surface of
the fabric
(C) Residual shrinkage ()  Shrinking due to laundering
(D) Shearing (IV) Shrinkage due to tension in

fibers and yarns

Choose the correct answer from the options given below:

(1) (A)-(1V), (B)-(I), (C)-(), (D)-(1)

(2)  (A)-(IV), (B)-(1i1), (C)-(1), (D}-(I1)

(3) (A)-(IV), (B)-(I), (C)-(1), (D)-(1)

(4) (A=), (B)-=(l1), (C)-(1), (D)-(IV)
Options :

92090693125. 1
92090693126. 2
92090693127. 3
92090693128. 4

Question Number : 82 Question Id : 92090623561 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & Ty g 1 &1 fraE sifen

e gl

(A) Ty darEm n gd e & 918 o1 fgs
8) wifaEiia YalEA () FIS DI HIFRFC U W
(€) AR HPad (i 9 & R e

(D) A (V) ¥R R GF H 791 & FRY P
2 feu u el © 9 et I @1 9 Sifen:

(1) (A)-(IV), (B)-(I), (C)-(I), (D)-(1)

(2} (A)-(IV), (B)-(1th), (O)-(1), (D)-(I1)

(3)  (A)-(IV), (B)-(1), (C)-(. (D)-(1)

(4)  (A)-(), (B)-(1), (O)-(1), (D)-(IV)
Options :

92090693125. 1
92090693126. 2
92090693127. 3
92090693128. 4

Question Number : 83 Question Id : 92090623562 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the 'steps involved in stages of dyeing in correct order.

Al Sewn product dyeing
B. Fabric dyeing
C Fiber dyeing

D. Yarn dyeing

E. Prefiber dyeing

Choose the correct answer from the options given below :

(17 CDEEBA
(2) CEDEA
(3) EDCBA
(4) ECDEA

Options :
92090693129. 1
92090693130. 2



92090693131. 3
92090693132. 4

Question Number : 83 Question Id : 92090623562 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[T & =on § Infie =l &) 98l oy § sJafiyd $:

A e 3ae e

B. PUSIVME

C. YEnyms

D. M

E. gd-3n s

e v T fgeedl & 4 w&t IR &1 9 Hifor
(1) CDEBA

(2) C,ED B A

(3} ED CBA

(

4} E.CD B A

Options :

92090693129. 1
92090693130. 2
92090693131. 3
92090693132. 4

Question Number : 84 Question Id : 92090623563 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



To measure thread count of a fabric.

A Fabric

E. Pick glass

C Pick needle

D. Count ends per inch
E.

Count picks per inch

Choose the correct answer from the options given below :

(1) ABCDE

(2} DABCE

(3) EA B CD

(4) DAECE
Options :

92090693133. 1
92090693134. 2
92090693135. 3
92090693136. 4

Question Number : 84 Question Id : 92090623563 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Us $US & Y B et & g o= sawas 2

A BYEl

B. [ @y

c fo® ey

D. W g= 8RR $ e

£ ufd &= faw &t 7o
e f2u o faeedi # @ uel I &1 9uH Bifvu -

(1) ABCDE
2) DABCE
3 EABCGD
(4) DABCE

Options :
92090693133. 1



92090693134. 2
92090693135. 3
92090693136. 4

Question Number : 85 Question Id : 92090623564 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) 1  Tie and dye technique is a kind of resist printing.
Reasons (R) It is also called as discharge printing technigue.

In the light of the above statements, choose the most appropriate answer from the
options given below :

1 Both (A) and (R) are correct and (R) is the correct explanation of (A)
2
3

4} [A) is not correct but (R) is correct

S

Both (A) and (R} are correct but (R) is NOT the correct explanation of (A)

o

(
(
{ (A) is correct but (R) is not correct
(

Options :

92090693137. 1

92090693138. 2

92090693139. 3
92090693140. 4

Question Number : 85 Question Id : 92090623564 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A g1 By U T §: U SfHEHUA (Assertion A) & w0 H foifed § o) go 39d
&0l (Reason R) & =0 H:

By A ;. T UUE BT U UBR @ e U |
HRUIR =4 fewam guE da-e i F81 I gl
I HuE & Adrd |, e e o fawedi § 9 9l 9w & 9uA wifor

(1)  ASIRREF 96l g 3R, A &1 gl SIS §

(2) AR RIA TE E AfF R A B UE e T8 8
(3) ATHE IRFTIRIE T

(4 AGSTEIR dAfFIRTE |

Options :

92090693137. 1

92090693138. 2

92090693139. 3

92090693 140. 4

Question Number : 86 Question Id : 92090623565 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Correct sequence of Batik printing process is as followed -

A Fabric mounting

B. Drawing by pencil

C. Wax application

D. Dyeing

E. Washing in boiling water

Choose the correct answer from the options given below :

(1) ABCDE
(20 B ACDE
(3} EABCD
{4} DABCGCE

Options :

92090693141. 1
92090693142. 2
92090693143. 3
92090693144. 4



Question Number : 86 Question Id : 92090623565 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

difed BT Widhal &1 Uel FH JHUPR § -

A, USTFgrHl

B. UTHd 8 Y@id el

C.  HH HuEm

D. ¥ig

E. Jddd U & 4

At feu Ty fasedt O & |l 39 &1 994 B -

(1) ABCDE
() BACDE
) EABCD
() DA BCE

Options :

92090693141. 1
92090693142. 2
92090693143. 3
92090693144. 4

Question Number : 87 Question Id : 92090623566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ;

Statement| : For a fabric to accept natural dyes mordanting has to be done or
else the fabric is unable to absorb dyes.

Statement |l : Mordant are intermediary substances which help the fabric to
repel the dye and ensure fast dyeing.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement Il are true
(2 Both Statement | and Statement |l are false
(
(

S

3

4) Statement | is false but Statement |l is true

Statement | is true but Statement |l is faise

L]

Options :

92090693145. 1
92090693146. 2
92090693147. 3
92090693148. 4

Question Number : 87 Question Id : 92090623566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 g Py Rumu g

®HY | ;- dUs § uipfas T o1 Wield gg aidien & uedl 81 93 $ust ¥ &)
HRE ¥ e g g

Y || - Hide S Ty ugrd § o $US &1 28 & v § v o g o dg
T gty svar g

Juiad ®uE & et J e 2w o faeel § 9 g8t 3w &1 904 sifen

(1) &Y AR ST a8

(2) 1R T e

(3) YT 1T B, AP B 11 AT
(4) HUF | HTA g, Afb FYF 11 T §

Options :

92090693145. 1
92090693146. 2
92090693147. 3
92090693148. 4



Question Number : 88 Question Id : 92090623567 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a trade name of spandex?

(1) Numa (2) Lycra
(3} Glospan (4) Asbestos
Options :

92090693149. 1
92090693150. 2
92090693151. 3
92090693152. 4

Question Number : 88 Question Id : 92090623567 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fre=ifda O &9 O W3e &1 28 A1 A8l 82

(1) (2) TEH
(3) e (4) UEEY
Options :

92090693149. 1
92090693150. 2
92090693151. 3
92090693152. 4

Question Number : 89 Question Id : 92090623568 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement| : Warp or weft floats over two or more counterpart yarns,
progressively stepped up in right or left direction is twill weave.

Statementll  : Denim, drill, gabardine, tweed, houndstooth and herringbone are
examples of twill weave.

In the light of the above statements, choose the correct answer from the options
given below :

(1 Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false
(2) Statement | is true but Statemaent |l is false
(4) Statement | is false but Statement Il is true

Options :

92090693153. 1

92090693154. 2

92090693155. 3
92090693156. 4

Question Number : 89 Question Id : 92090623568 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s Rrmue

&Y | - a1 9151 8 s gOHa GF B FU dF 91 9 F Ueiley, o wfaeie wy
Y I 91 910 FUR BT AR g 8, d 38 Zfad g FEa g

&Y 11 - B, fga, mafds, odte, grdewy ok el |4, 2fad §91E & ISR B
TJUH HYA F el H, i 3 o fFeed 8 9 9d I @1 994 i

1) SRS TIE

(2)  HYEI SR EE S E

(3) Y| I g, AfeH BUF 1 T B
(4) Y| A B, Al HY 11 9T B

L]

Options :

92090693153. 1
92090693154. 2
92090693155. 3
92090693156. 4

Question Number : 90 Question Id : 92090623569 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A): 20 Ne count is a thicker yarn than 60 Ne count yarn.

Reasons (R) : Cotton count number is inversely proportional to the thickness
of the yearn.

In the light of the above statements, choose the most appropriate answer from the
options given below :

n Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 1s carrect but (R) is not correct
(4) (A) is not correct but (R) is correct
Options :
92090693157. 1
92090693158. 2

92090693159. 3
92090693160. 4

Question Number : 90 Question Id : 92090623569 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 g1 By U Y §: U U (Assertion A) ¥ w0 1 fofead 8 o) g8 39S
U] (Reason R) & ¥4 O:

HBYT A - 20 Ne TUF] 60 Ne TTOHT 93 & T84 G 8|
HRUIR ; el UM @ g @ Hiers & faufva srqufas 2
JUE HYA & et 1, 19 U e el 7 8 |l I &1 994 o

(1) AR R U € SRR, A B HEl SRS &

2) ARG E PR AP TR BN AR
(

{

—

3) AYglE afFIRUEI "Gl B
4) AWE Tl e, AfFTR IR ®

et

Options :

92090693157. 1
92090693158. 2
92090693159. 3
92090693160. 4



Question Number : 91 Question Id : 92090623570 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the steps involved in the preparation of greige fabric for printing -

A Scouring
B. Desizing
. Bleaching
D. Singeing
E. Washing

Choose the correct answer from the options given below :

(1) D.B.ACE
(2} D.ABCE
(33 ADBEC
(4) ADBCE
Options :
92090693161. 1
92090693162. 2
92090693163. 3
92090693164. 4

Question Number : 91 Question Id : 92090623570 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WS & [0 I U &) JuR &3 § Wind =07 &) srafiyg &3

A BRI

B. feamsfm

c.  sfEn

D. REEn

E. difem

9 fu T el 0 § wEt 39w &1 9g- S -
(1) D,BACE

2) DABGCE

3) ADBEC

(

4} A DBCE

Options :

92090693161. 1
92090693162. 2
92090693163. 3
92090693164. 4

Question Number : 92 Question Id : 92090623571 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List Il
(A) Ghara (I  Karnataka
(B) Kasuti () Gujarati
(C) Chop (MM} Bihar
(D) Sujani {IV) Punjab

Choose the correct answer from the options given below:

(1 (A)=(I), (B)-(1), (Ch-1), (D)-(1V)
(2 (A)-(11), (B)-(1), (C)-CIV), (D)-{1)
(3 (AJ-(IV), (B)-(lI1), (C)-(1), (D)-(IT)
(4)  (A)-(1), (B)-(11), (C)-(HT), (D)-(IV)

e

Options :
92090693165. 1
92090693166. 2



92090693167. 3
92090693168. 4

Question Number : 92 Question Id : 92090623571 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T4l | & Ty gat 1 &1 faE s

ell-| Tl

(A) EWI (y HACD

(B) gl ) I

() ©m any TEER

(o) ol (V) O
4 U fawedl O § gl IR &l 9 S
(1} (A)=(11, (BY-(1, (C)=(H1), (D)-(1\)
(2} (A)=(11, (BY-(13, (C)=(IV), (D-(111)
(3) (A)-(IV), (B)-(li1), (C)-(D), (D)-(11)
(4) (A)-(1), (B)-(11), (C)-(11), (D)-(1V)

Options :

92090693165. 1
92090693166. 2
92090693167. 3
92090693168. 4

Question Number : 93 Question Id : 92090623572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Three basic weaves are plain, twill and satin weaves.

Reasons (R) ¢ All the other weaves are variations of these three weaves,

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R} are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R} is NOT the correct explanation of (A)
(3} (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

92090693169. 1
92090693170. 2
92090693171. 3
92090693172. 4

Question Number : 93 Question Id : 92090623572 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A g1 By AU MU §: U aHfiiduA (Assertion A) & 0 H foifed & @ g gus
&Rl (Reason R) '33'?5“173'[.

AimyA A - e, Ra o wfe e g ¥
HRUIR : 3 gt g8 g i ges ot @1 fafderamt €
JURIF T & ATt B, i 3w T fasedt 9 98 IR &1 999 Siferg

(1) ASIRREF T8l € 3T R, A 1 Tel &rE &

(2) ASMRREHE G € AfBR, A B UE TS TEl 8
(3) A¥EIE dfFTR IS TE®

4) AT TNE ABTREAT

Options :

92090693169. 1
92090693170. 2
92090693171. 3
92090693172. 4



Question Number : 94 Question Id : 92090623573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il ;

List | List [l
(A) Plain selvedge () Basketweave
(B) Tape selvedge (1) Shuttlessloom
(C) Fringe selvedge () More ends in the selvedge
(D) Center or split selvedge (IV) Fabric to be cut in two lengthwise

Choose the correct answer from the options given below:

(1) (A)-(), (B)-(1), (C)-(11), (D)-(1V)
(2)  (A)=(IV), (B)-(I1), (C)-(1), (D)-(11)
(2)  (A)-(, (B)-(I), (O)-(1), (D)-(1V)
(4)  (A)-(V), (B)-(IL), (C)-(1), (D)-(1)

Options :

92090693173. 1
92090693174. 2
92090693175. 3
92090693176. 4

Question Number : 94 Question Id : 92090623573 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I | & 1y =R 1 BT e Sife

| -1l
(A) el IS ORI GG
(B) UdEW () FreoeH
(€ bl Hedel ) Geaol ¥ sfes 8R
(D) FEMURAUGEIET  (Iv) HUS DI Adls & HIEY S YR H H1el
- feu o fasedl & 8 9e! IR &1 9 Sif:
1 (A, B)-(1), (C)-(1), (D)-(V)
2)  (A-(IV), (B)-(1), (C)-(1), (D)-(11)

=]

(
(
(3 (A)-(H), (B)-(11), (C)-(1), (D)-(1V)
(4)  (A)-(V), (B)-(I), (C)-(1), (D)-(1)

Options :

92090693173. 1
92090693174. 2
92090693175. 3
92090693176. 4

Question Number : 95 Question Id : 92090623574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What among the following are major advantages of the Four Shaft Table Loom?

A It is transportable.

B It takes up little space.

€ Each shaft is independent.

D. It can be used as a sampler loom.
E. The loom has a light frame.

Choose the correct answer from the options given below :

(n D, E A, Bonly
(2) A, B, C Donly
(3) B, C, D, E only
(4) C D,E Aonly

Options :

92090693177. 1
92090693178. 2
92090693179. 3



92090693180. 4

Question Number : 95 Question Id : 92090623574 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frerfef@a 3 8 31 @ IR 2ite 290 $9 & 05E B &
A TeuRaEeia gl

B. UE 4gd &Y M Bl g

C udE Wite wWad g

D. U IUAN YA dd & & H g o g g

E. &Y & 50 g gial gl

A1 fou mu fawedl § 9 9 IR &1 999 S -
(1) 4ddD.E A, B,
(2) &ddABCD
(3) HadB, CDE
(4) HEAC D, E A
Options :

92090693177. 1
92090693178. 2
92090693179. 3
92090693180. 4

Question Number : 96 Question Id : 92090623575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Compound structures in woven design consist of the following attributes :-

A More than one series of ends/pics.

B Forms ground/body of the fabric.

C. Figurative or ornamental designs formed by set of yarns.
[B) Has only one series of ends/picks.

Lhoose the correct answer from the options given below :
(n A, Band Conly
(2) B, Cand D only

(3) D, Aand B only
(4) D, CandAonly

Options :

92090693181. 1
92090693182. 2
92090693183. 3
92090693184. 4

Question Number : 96 Question Id : 92090623575 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T4 U Feng # M Geeenadl # Preafafag s g &
A At @ ue 8 et Jaan

B. ®US Bl Tdg/ad &1 Bl

C. ¥ S AT RIS 113 Srciap1as U1 wonaet fEumgH)

D. T i il 9t Fad o Jae gt 2

At fau 7o faeedi # @ Ol I &1 9y i -
(1) &ddA B, C
(2) HddB,CD
(3) HdAD, A, B
(4) HdaD,C A
Options :

92090693181. 1
92090693182. 2
92090693183. 3



92090693184. 4

Question Number : 97 Question Id : 92090623576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il ;

List 1 List i
{A) Aesthetic Finish N Indigo
(B) Functional Finish (Il  Mercerization
(C) MNatural Dyes (I} Crease resistant
(D} Dyeing Auxiliary (IV) Sequestering agent

Choose the correct answer from the options given below:

(1 (A)-(1), (B)-(11), (C)-(1), (D)-(1V)

(2) {(A)-(1), (B)-(11), (C)-(1), (D)-(IV)

(3) (A)-(11), (B)-(1), (C)-(1), (D)-(1V)

(4) (A)-(11), (B)-(1), (C)-(1), (D)-(1V)
Options :

92090693185. 1
92090693186. 2
92090693187. 3
92090693188. 4

Question Number : 97 Question Id : 92090623576 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt | & |1y g 1 & e $if

- -
(A) gy gfrspfay m sfe
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(1 (A)=(D), (BY-(1), (C)-(lIN), (D1)-(IV)
(2) (AY-(111), (B)-(1N), (C)-(1). (DI-(1V}
(3) (A=), (B)-(1i), (C)-(1), (D)-(IV)
() (A)-(1), (B)-(1), (C)-(lm), (D}-(IV)

Options :

92090693185. 1
92090693186. 2
92090693187. 3
92090693188. 4
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is not a primary property necessary for a polymeric material to
make an adequate fibre?

(n Fibre length to width ratio
(2) Fibre uniformity
(3) Maoisture absorption

(4) Fibre cohesiveness

Options :

92090693189. 1
92090693190. 2
92090693191. 3
92090693192. 4
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Options :

92090693189. 1
92090693190. 2
92090693191. 3
92090693192. 4
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Match List | with List Il :

List | List 1l
(A} Chintz (Il Plain weave
(B) Crepe () Satin weave
(C)  Garbardine {1} Printed
(D) Lawn (V) Twill weave

Choose the correct answer from the options given below:

(1) (AJ=(11, (BY-(i1), (O)-(1V), (D)-{1)

(2) (A)-(I1), (B)-(11), (C)-(1V), (D)-(1)

(3) (A)-(I1), (B)-(1), (C)-(Iv), (D)-(11)

(4) {(A)-(IV), (BY-(11), (C)-(11), (D)-(1)
Options :

92090693193. 1
92090693194. 2
92090693195. 3
92090693196. 4
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(1) (A)-(1), (B)-(H), (C)-(1V), (D)-(1)
(2) (A=, (B)-(1), (C)-(IV), (D)-(1)
(3) (A=), (B)-(1), (C)-(IV), (D)-(11)
@) (A)-(IV), (B)-(I1), (C)-(1n), (D)-(1)

Options :

92090693193. 1
92090693194. 2
92090693195. 3
92090693196. 4
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Process of transfer printing

A Design of print
Application of heat and pressure
Print on special paper

Sublimation of print

m o Mn =

Transfer of print on fabric

Choose the correct answer from the options given below :

() A CBDE
) ADGCBE
3) B,D,CAE
4 EABCD

Options :
92090693197. 1
92090693198. 2



92090693199. 3
92090693200. 4

Question Number : 100 Question Id : 92090623579 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST 3uTs @t ufdem

A fife @1 fgwm=a

B. 0 3R E&ME H1 UGN

c. fdwwmamie

D. file &1 3diao

e ®us R fife gwiawm

1 e e fawed] O @ wdl I &1 9a4 S

1 ACBDE
2} ADCBE
3} B.D,CAE
4) EABCD

Options :

92090693197. 1
92090693198. 2
92090693199. 3
92090693200. 4



